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QUESTION 1

Click the Exhibit button. 

The exhibit demonstrates the output from which type of session? 

A. REST API 

B. Ansible 

C. PyEZ 

D. NETCONF 

Correct Answer: D 

Reference: https://www.ietf.org/mail-archive/web/netconf/current/msg05567.html 

 

QUESTION 2

Click the Exhibit button. 
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Which two actions are performed by the PyEZ Python script shown in the exhibit? (Choose two.) 

A. It saves the current configuration as a rescue configuration only if one does not exist 

B. It prints the rescue configuration if one already exists 

C. It prints the rescue configuration after it has been replaced 

D. It always saves the current configuration as a rescue 

Correct Answer: AB 

 

QUESTION 3

Which Python operator tests two variables to see if they contain the same value? 
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A. != 

B. != = 

C. = = 

D. = 

Correct Answer: C 

Reference: https://www.programiz.com/python-programming/operators 

 

QUESTION 4

Which statement is correct about automation? 

A. Automation increases the amount of time it takes to retrieve information from a large number of devices 

B. Automation reduces the costs of managing a large number of devices 

C. Automation increases the number of commands in the CLI 

D. Automation increases the amount of time needed to make changes to large numbers of devices 

Correct Answer: B 

 

QUESTION 5

How does YAML differ from JSON in data interchange formats? 

A. YAML supports comments 

B. JSON is language specific 

C. JSON is a superset of YAML 

D. YAML is not indentation aware 

Correct Answer: A 
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